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Instructions to the candidates :

I g g 9 e € aen wft v e € |

This question paper consists of three questions and all questions are compulsory.

7. Tk W % 3 3% G 3T § |
Marks for each question have been indicated on the right hand margin.

3. W I — 1 & o atiates e w81 & | 9 sl § atiates fshed fom

g1
There is no internal choice in Question No. 1, remaining questions carry internal
choice.
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4. HH Y 3Hcd=d ag=Iuly 7, ed 15 fard v & | el 1 S uw s
Q ufaal o 3T ] | T shHih — 2 WY ST &, 62 €T 100 B | WA sRHih — 3
& alia/ e 2, v 3002 |

The first question is of very short-answer type consisting of 15 compulsory
questions. Each one is to be answered in one or two lines. Question No. 2 is short
answer type, word limit is 100. Question No. 3 is long answer/Essay type, word
limit is 300, :

5. el weg w7 8, Sueh ITei |

Wherever word limit has been given, it must be followed to.

6. FE-U % ATER & Tl % IR FAGER T | T T % fifm W B W
1T ¥ @ FaER ford 9 3T 9 3 Tl & sww i |

Question should be answered exactly in the order same as mentioned in the

question paper. Answer to the various parts of the same question should be

written together compulsorily and no answer of the other question should be
- inserted between them.

7. -aﬁﬁmmﬁ%sﬁmﬁamm.wg&ﬁ,am%%ﬁm
FOft § Q SESH TR A HHT AT |

In case there is any error of factual nature or printing, then out of the Hindi and
English versions of the question, the English version will be treated as standard.

1. FrafiEd ses ag-Sala TR R SR E QIR T AR 15x4 =60
Give answer of the following questions in one or two lines :
(A) &uﬁ&m-ﬁ@mﬁﬁg&mm%%?m@wﬁm;ﬁmmﬁ
T € Wkt @ 7 O qd wyfie St @ feed it fshe
B E 7

When does conjugation occur in Paranmecium caudatum ? Can the progeny
of same paramecia conjugate ? How many paramecia develop from one
exconjugant ?
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(B) THIET FTE ? 34 g, Foran 9 w1 =t w1 warsd, Rrww o Faeia g
21

What is Ephyra ? Name the animal, process and structure from which it
develops.

(C) wrEaRT # fea weR % Sies I I 8 7 T T F %F Sy |
How many types of Zoaids are present in Physalia ? Name them along with
their function.

(D) U §F B BT H GG &S A U YET AL § ? 39 TH1 H AW
Fara g g 7 it faftr grn wferege ararew & PR i g |

Which member of Phylum-Porifera is found in Fresh water ? Name the
structure by which it asexually reproduces during unfavourable
environment.

€ Sfeien % Shaw 9% § T T 9 GRaT Hael F W w6 | R
T 3 &9 1 I8 i dies B ugEaT g 7
Give the name of larval forms found in the life cycle of Fasciola. In which
Iarval stage it reaches its primary host ?

(F) h{=3ehl I ? T & Yoyd &1 Fargd |
What is nucleolus ? Describe its two basic function.
(G) R T e Acfiniv <l I Uil o TR W HA yg=aHd & 7

How can you identify male and female Palaemon on the basis of their
appendages 7

(H) T % H-Tenme § T I T g ¢
What do you mean by non-disjunction of chromosomes ?

() R qigen fhas TR % 1ot 1 fmior ear 8 7 i o1 TR 31E S
fRARm s ?

How many types of sperms are produced by Male Pila ? Which sperm
fertilizes Ova ?

) TRt 3 R Ea € ¢ WIS R 9T arel SraRt 3 s A fefed |

What are vestigial organs ? Write the name of vestigial organs found in
human.

(K) wfafm w2 ?wmﬁ%mwﬁﬁqsﬁﬁw—sﬁqﬂ:
e 7 foefers Nivs A g B g |

What is apolysis ? Name the stages in which Taenia enters primary host and
secondary host.
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What is typhlosole ?
(M) GRS TATE A AT TGS 8 7
What do you mean by Sympatric populations ?
) ASE FE ?
What are plasmids ?
(0) dSFE Mg ? FAITgRag IR ?
What is organ of Bojanus ? In which animal is it present ?

2, frafaiaa 7 3 feed | (10) weit 3 3 faRaw | s@is IR T 100 Teel <t
A 10x8 =80

Write the answer of any ten (10) questions from the following questions. Each
answer should be limited upto 100 words.

(A) SRR 7 et 3 TR SR e 2 2 WA 7|

What is Mimicry ? What are Batesian and Mullerian Mimicry ? Explain in
brief.

(B) WS UL R el o frafior <6 wfdmr =t wnensd |
.Describe the chromosomal mechanism of sex determination in human
beings.

(©) Teramer ToreE T R 7 g H AE R TR % B & 7 HIERATE @
6! TR afRri & Suftr T Torg i witw § e ik |
What are giant chromosomes ? How many types of them are present in

animals 7 Describe the giant chromosome present in the salivary gland of
chironomous larva, briefly.

(D) TEEEE 8 AT FTHA 3 7 399 YR G & Fa1gy |
What do you mean by lysosomes ? Describe their types and functions.

(E) Gefii # forw aag it atig Tl et R 2 39h e @ wrferss T
T Ui HIRR |

What type of eye is present in Palaemon ? Describe its structural and
functional unit.
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(F) TR AIHHEh H win 3 e HIRA |
Explain Electron Microscope in brief.

(G) walht “if<e ghed” 8 | g |
Birds are “Glorified Reptiles”. Explain.

(H) SAAITeNEE i Sieg ST 3 fope TH T T@ g § 7 SuEd |
Where can we place Balanoglossus in anima! kingdom ? Explain.

() Ueamdt gra sames =t 3T 1 vaT 379 Hd 70 & 7
How do you determine the age of fossil by Radiometry ?

(@) S U G g3 RIS § YT 39 GF I T gD S Ted, ieH
I THgd ° FUH YT % Y w@ed ol 96g H @ | gAY § gueh
ST HIRH |

Write the name of system present in Echinoderm studied by you, which
help in locomotion, capturing and handling food and also in respiration.
Describe in brief. :

(K) 1 A1 TS I T goiia 0 S B & 7 I SRl % T
Ty S ARG o uRl S | | @i d oty i ueidhew aefen
3 e @ 7 Rgie for smean sw s SR emsfim aidi @ 2
Which Protozoan causes Malaria in human beings ? Write name of its

different species prevalent in India. Which species causes malignant or
pernicious malaria ? How and when signet ring stage develops ?

(L) geht =t foraa vimiforss &=t & afer ST wehat 8 ? 39 & <1 910 94T 981 I
Terag % 9§ Fared el fashin i Iifem sgaRka i i
SHifer wlgy sfaren 9w ST & |56 g9 1A off s |

Into how many zoogeographical regions earth can be divided ? Name the
region and its climate where developed placental Eutherians are absent and
a living reptile fossil is present. Give the name of this reptile also.
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M) T TTET VG ) Tl §9 3 79 RRH YR 3T - STeR TEH Fhd 8 7
3o et = ottt 3wl i |

How can you differentiate Male and Female Ascaris externally ? Describe

its life cycle in brief.
(N) 3R Hiee & 19 #41 9Hga & 7

What do you understand by Operon Model ?

3. fyafeRaa T & f6= @ (03) 71 % S faRed | Wl SO oI 300 I3
AT AR : . 3x20 =60

Write the answer of any three (03) questions from the following questions. Each
answer should be limited upto 300 words.

(A) FTTREH T 39 1 TEE § 7 veRd &7 fasivand feled e gE
TN dTel g SENEE (FTE ) fhu T et I Y ATEegenar Sl
T el B, TR |

G0

T S T T R 2 RS e e TR S T S I T, e
| 36 G % 1 SHIATRATS % FraT & 39fea A1 a7 ! Tens |

What do you mean by Adaptation ? Write down the characteristics of
Desert region and explain how -Dipodomys (Kangaroo rat), that found here
fulfills its water requirement. |

OR
What is canal system ? How many types of canal systems are present in

Phylum Porifera ? Explain. Describe the canal system present in the larva of
class demonspongiae of this phylum.
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‘ B) Wifem & Ieastt et el gr € ] 7 fe St A & srgefRea Bt R 2
\ 7ot FufRf % AR Y fepa webrt <) B ], WA | 3R IouAi g A
FH-FH A Iewel o e fhw g d B § ¢ SRR SR

WA |
'/ Suifeh 1ot 3 SR w1 R e R e 2 wg P el w e
\ 2 7 7% g R T wlig & Sere @ T wueEd |

Which excretory structure is responsible for excretion in Pheritima ? In
which segment they are absent ? On the basis of location how many types
of them are there, describe. What is approximate ratio of different excretory
wastes in its excretory fluid. Explain its functioning,

OR

‘Who proposed the ‘theory of inheritance of acquired characters’ 7 On which
factors is it based ? Explain this with the example of reptiles given by him.

©) ﬁmaaﬁq@mﬁ@@ﬁmaﬂmmmﬂtamﬁmﬁm@f
Do & Fia FUd 8 o F, i) 3 aR Sefteen s 1 S o v aet
fararht R £ 1 99 F, & F 1 gElifthen w1 wdigor w6 # €, q F,
R 7 AR TR % S fe sgum d e s @

Y U1 F 7 } 96% I 1O

<RI 7T 9 3R] v

%grmam?’lﬁ‘lti@] 4% @Waa JAIgE & M

Tl U1 ol U FTTER 3 T

IEles s % aities # e vl & s i

@ SR T o vEl T 39 QR T T A1l € A1 bl ?
I |

(b) F, 1 & 96% gieifthen e o7 < @ | W@ BN % 1 HR E,

T |

(©) F, N 3 w1 4% wew 1 % Fge o T G § | 56 HRU A

R Y |
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ﬁ@ﬁm%ﬁﬁaﬁﬁgﬁdﬂwm%maﬁgﬂm?
Bvaet ¥ g 92 T AT Rt el 3 T T |

T Gt W 9 39 T AT Fret <Rt ST Hi |

Huadt 1 8 S Fani 3 woperdr F6 e 7 2 39 i Al & A
o v e % 3 ) O & wan, R dvee & Feml @l w@dEd
qeieh GA: GIS o |

In a cross between Grey body and long wing Drosophilla with black body
and vestigial wing Drosophilla, F, generation all Drosophilla were found to
be Grey body and vestigial winged. When these F Drosophilla were test
crossed, in F, generation four types of Drosophilla appeared in following

ratio :

Grey body and long winged ] 96% parental combination
Black body-and vestigial winged ;

Grey body and vestigial winged] 4% New combination of
Black body and long winged characters according to law of

independent assortment

Answer the following questions in the light of above described experiments :

(@)
(b)

©

(@)
(b)

(c)
(d

Whether the parental Drosophilla having Grey body and long wing is
pure breed or hybrid ? Explain,
96% of Drosophilla of F, generation show parental combination of
characters. Why is it so ? Explain.
4% members of F2 generation do not show parental combination of
characters. Explain the reason.

OR
Why did only Mendel selected pea plant for his hybridization
experiments ?
Name the 7 contrasting characters, Mendel choosen for his
experiments.
Describe monohybrid cross and the laws derived from it.
Why did only Mendel get success in his experiment ? Name the three

scientists along with the country to which they belong, who
independently rediscovered Mendel’s law.
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